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Instruction : Figures to the right indicate marks.

I. (A

(B)

2. (A
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S1AUSLAA AR dleddgd aHAl. 8
Explain Kavyaprakash’s benedictory verse with example.

AUA/OR
el dd oeIom Ut 2di-l adl agldl,

Explain presupposed (conditions) of <T&0T according to Mammat.

AALH A1l = (LA d o) 6
Explain with the reference to the context. (any two)

(1) g ST=eh! AT TRIST ASTHGHT |

(2) ar=" ® Y T s fEaTeTee: |

(3) TRUEEY g |

(4) T YEASTA feod TR Tl ST VR Tt |

Al siSugl ol [a gs-iu dvil 10
Write short notes any two of the following :
(1) SURmM & |
(2)  T&I07 oF&IOT |
(3) TR I — AHendl.

Tﬁ'{ﬂazw I” — Explain.
(4) T TigeT T fvTeTsRTeRISIr — Al

oIS AT e &TURTTsRIeRo — Explain.

1 P.T.O.



(B) udecl AHANdl @ (Od d As) 4

Explain with the reference to the context. (any one)

(1) AT 3agar fgar = Jgert 3o ARS @ead |
(2) RIS T =T ot foraen |

3. Yl datell viq Rl @&l usiRl Al 14
Discuss the types of ¥ET S0 and TOT &ToT |
2144l/OR
ollel aaell 59 Fld s1d 53 9 2 d ol uAL H2AL AV Hdl AL

Describe Acharya Mammat’s three views on the function of VTl <T&T0T |

N

4. (A) DAl A d ol 2SR AleleRL AHAAL 10

Explain with illustration any two of the following figures of speech :

(1) = |
(2) fouqman |
(3) TmE=E |
(4) ITgnld: |
B) DAl sidunt s viesiRAl SR80 Aled 2l 2L 4

Identify with reasons any one of the following figures of speech :

(1) U g8+ WE qae™d 9 99 |
e M= ST g ae=: ||

(2) T UHET S ST YA |
AN T T8 TAT 7 & Jorq ||
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5. (A) Py [aseq wale s31 ol Ul ¢

(B)
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Answer the following question choosing the correct option :

(1) el Hd woe-dl aldil sedl ¢ ?
(a) 4 (b) 6 () 3
2)  le[Edlaagl>il dul M- © 2
(a) e (b) e () =g
(3) T Ui e, Geleel ¢ ?
(a) SURH I (b)  TIRIUT SAeIOT (c) TRIIT IET AeToT
4)  Aculzaledl ysdl sieL ¢ ?
(@) Auswlil (b)  Hlnisl (c) ollgl
(5) “FIRZA’ Hl sU wASR Al © ?
(a) elus () [l (c) [aeua-
6) clal@s aoeedl Aol el sul 9 ?
(a) AR (b) A& (c) <oy
(7)  drd 44 32l usiz-l © ?
(@ 1 (b 2 ) 3
(8) “Hodm: I Wi sul Aol el ©9 ?
(a) AdA A (b))  lauena Aol (c)  dAsleus el
CIRETIC KU
Match the following :
A B
(1 e (a)
(2) Tl T (b) T T
(3) T ()
(4) (d) ST
(5) T (e ToM™
(6 =™ (f I T
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